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Four artists perform simultaneously on different rings in a famous circus. Which artist is the snake tamer?

1. Exactly one of the artists has the same initial in his name
and in the animal he tames.

2. There are 9 animals in Samuel's adjacent rings.

3. Thomas manages one more animal than the artist in ring
B.

4. There are more elephants than snakes.

5. Emanuel tames 4 animals or performs in ring C.

6. Thomas tames lions or snakes. Emanuel is not a tiger
tamer.

7. Tigers are in ring A or B.

8. Snakes aren't adjacent to lions.

9. The total animals in rings C and D are an even number.
10. Elephants are not in ring C.

<
3
/ Herd / Ring / Animal E 5
O R
S
& g
o O
)
n «©
5% £
/i>\\'?" ,b{\\ > .5
& 3 NN =8
&) \Q/Q & & 0_‘,2’ [avge]
© > ™ 15} © v O QS v oK
Emanuel JdEn
o
- Lukas L0
0
=
< Samuel
Thomas
Elephant
= Lion
E
c
< Snake
Tiger
Herd Ring Animal
A
Emanuel
> B
£ Lukas
= c
Samuel
D
Thomas
© Bralnz_lll_a.com N ) Play More Logic Grid Puzzles more [E][E]
Free for printing and distribution for non-commercial brainzill /x/10qi id ] MIND
use only (home, schools, libraries and churches) ranzilia.com/X/10gic-grid-puzz.es TEASERS [u]



https://www.brainzilla.com/x/main/home/?src=BLGP2C&evt=copyright-footer/click
https://www.brainzilla.com/x/logic-grid-puzzles/?src=BLGP2C&evt=play-more/click
https://www.brainzilla.com/x/main/home/?src=BLGP2C&evt=logo/click
https://www.brainzilla.com/x/lgp/84/?src=BLGP2C&evt=link-widget/click

Circus Animals bfac’n

Logic Grid Puzzle | S SF Y S

Four artists perform simultaneously on different rings in a famous circus. Which artist is the snake tamer?

1. Exactly one of the artists has the same initial in his name 6. Thomas tames lions or snakes. Emanuel is not a tiger
and in the animal he tames. tamer.

2. There are 9 animals in Samuel's adjacent rings. 7. Tigers are in ring A or B.
3. Thomas manages one more animal than the artist in ring 8. Snakes aren't adjacent to lions.

B. 9. The total animals in rings C and D are an even number.
4. There are more elephants than snakes. 10. Elephants are not in ring C.

5. Emanuel tames 4 animals or performs in ring C.
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